ALGEBRA I Exam 3.1

1.   The fence around a quadrilateral shaped pasture is 3a2 + 15a + 9 long.  Three sides of the fence have the following lengths: 5a, 10a – 2, a2 – 7.  What is the length of the fourth side?
(1 point)
Simply the polynomials in questions 3-5.
2.  (2b2 – 9b +11)(2b + 1)







(2 points)
3. (5a2 – 6x)(5a2 + 6x)







(2 points)
4. (4y – 3)2








(2 points)
Completely factor the expressions in questions 8-14.
5. 36x2 – 64  








(2 points)
6. w2 + 18w + 77








(2 points)
7. 24g2 – g – 10








(3 points)
8. 80y2 – 210y – 245







(3 points)
9. 2a4 – 10a2 + 8 








(3 points)

10. 4x3 – 20x2 + 3x – 15 







(2 points)
11. The volume of the prism is given.  Find expressions for the possible dimensions of the prism.

[image: image1.png]144x°—258%" + 105x









(3 points)
12. The Cutting Edge frame shop makes a mat by cutting out the inside of a rectangular board.  Use the diagram to find the length and width of the original board if the area of the mat is 184in2.







(4 points)
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13. The top of a rectangular table has an area of 18x2 – 33x + 12.  The width of the table is 2x – 1.  
What is the length of the table?






(2 points)
14. The polynomial 3πx3 + 24πx2 + 48πx represents the volume of a cylinder.  The formula for the volume of a cylinder with radius r and height h is V = πr2h.  Write a linear expression for a possible radius of the cylinder.






(2 points)

[image: image3.png]15.1f the difference (3¢ — 2x + 5) — (2 + 3x — 2) is multiplied by 52 what is the result,
written in standard form? e )

16. Albert says that the two systems of equations shown below have the same solutions.

First System | Second System

Sc+9y =48 | Sr+9y=48
120+ 5y =21 | —85y=—

I

and state whether you agree with Albert. Justify your answer. (4 points)

17.The equation to determine the weekly earnings of an employee at The Hamburger Shack is given
by w(x), where x is the number of hours worked.

10x, 0=x=40

0 =115 - 40) + 400, x > 40

Determine the differ
who works 3 hou

salary, in dollars, for an employce who works 52 hours versus onc
(2 points)





Questions 18-26 are Multiple Choice and are worth 1 point each.

[image: image4.png]18. Which equation has the same solutions as 2% + x — 3 = 0?
1) @-Da+3)=0 (3) x-3)x+1)=0
@) 2+ Dax—-3)=0 (4) @ +3)ax—1)=0
19. Fred is given a rectangular picce of paper. If the length of Freds

piece of paper is represented by 2x — 6 and the width is represented
by 3x — 5, then the paper has a total area represented by

(1) 5x — 11 (3) 10x — 22
(2) 6x% — 28x + 30 (4) 622 — 6x — 11

20.When factored completely, the expression p* — 81 is equivalent to
1) (p*+9)p* - 9)
@) (p*=9p*-9)
(3) (2 +9)p +3)p — 3)
(@) (p+3)p = 3)p +3)p —3)
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[image: image6.png]22."The graph of the function f(x) = vx + 4 is shown below.
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[image: image7.png]23.Joey enlarged a 3-inch by 5-inch photograph on a copy machine.
He enlarged it four times. The table below shows the area of the
photograph after cach enlargement.

Enlargement

0

1

2

3

4

Area (square inches)

15

18.8

23.4

29.3

36.6

What is the average rate of change of the arca from the original
photograph to the fourth enlargement, to the nearest tenth?

(1) 43
2) 45

(3) 54
(4) 6.0




[image: image8.png]24. A pattern of blocks is shown below.
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If the pattern of blocks continues, which formula(s) could be used

Term 4

to determine the number of blocks in the nth term?
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[image: image9.png]25. Which expression is equivalent to (g2 — 16)?
M. (g —4)?
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[image: image10.png]26.Which binomial is a factor of the expression 2a? — 10a — 487
A. a +3
B. a +8
C. 2a+3
D. 2a -8




[image: image11.png]BONUS New Clarendon Park is undergoing renovations to its gardens. One garden that was originally a
square is being adjusted so that one side is doubled in length, while the other side is decreased
by three meters.

The new rectangular garden will have an area that is 25% more than the original square garden.
‘Writcand solvean equation that could be used to determine the length of a side of the original square
garden.




(2 points)
